




















NECAP 2013 RELEASED ITEMS
GRADE 8 SCIENCE

Score PoinT 4

Identifies two moons and uses specific information from the table (density, radii and orbital periods). In part b,
the response uses data from the table to compare the orbital period of Titan to Callisto [it is “about the same”]
and to Jupiter's other moons [it is “much shorter”].
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Score PoinT 3
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Response selects lo and cites unspecified similarities in radii, mass and density, and selects Europa because
of unspecified similarities in radii and density. Part b provides data which generally compares the orbital
periods of each of Jupiter's moons with the orbital period of Titan.
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Score PoInNT 2
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Response is correct but is not justified with specific data from the table in either part.
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Score Point 1
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There is a vague reference to the table in both parts a and b, but the response does not specify what data
or information is being used in coming to these conclusions.
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Score PoinT 0
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NECAP 2013 RELEASED ITEMS
GRADE 8 SCIENCE

LS1 (5-8) SAE-1  Students will, using data and observation about the biodiversity of an ecosystem, make
predictions or draw conclusions about how the diversity contributes to the stability of the
ecosystem.

@ The Canadian lynx is a small wildcat
that eats mostly hares. Hares are similar
to rabbits. The graph below compares the
Canadian lynx and hare populations in an
ecosystem from 1845 through 1925.

Canadian Lynx and Hare
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Based on the graph, which sentence describes
one possible relationship between the
Canadian lynx and the hare populations?

A. If the population of hares were to
suddenly increase, the Canadian lynx
would likely become extinct.

B. If another predator of the hares were
introduced into the ecosystem, the
population of Canadian lynx would
suddenly increase.

C. If the Canadian lynx began to eat other
types of mammals, the population of
hares would suddenly decrease.

D. If the Canadian lynx were suddenly
removed from the ecosystem, the
population of hares would likely increase.
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LS2 (5-8) SAE-6  Students will, given a scenario, trace the flow of energy through an ecosystem, beginning
with the sun, through organisms in the food web, and into the environment (includes
photosynthesis and respiration).

@ An example of an ecosystem is shown below.

Bacteria |

How does some of the energy flow through
the ecosystem?

A. from the grass to the rabbit
B. from the grass to the Sun
C. from the fox to the rabbit
D. from the bacteria to the fox

13
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LS4 (5-8) INQ-10  Students will use data and observations to support the concept that environmental or
biological factors affect human body systems (biotic & abiotic).

@ Cigarette smoking narrows the smoker’s blood
vessels. Blood carries oxygen that is needed
by organs to function properly.

Which prediction is most likely to occur in
someone who smokes cigarettes?

A. The smoker’s heart will pump blood more
slowly because the blood will take up
more space in the blood vessels.

B. The smoker will have less blood move
through the blood vessels because the
blood vessels will get larger.

C. The smoker’s lungs will need to take in
less oxygen because oxygen levels will
increase in the body.

D. The smoker’s cells will become damaged
because they will receive less oxygen.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Broad Area of Inquiry: Planning and Critiquing of Investigations
Inquiry Construct 6: Provide reasoning for appropriateness of materials, tools, procedures, and scale
used in the investigation.

@ Explain why it was important to conduct multiple trials and to use the average of those trials to
calculate the average density.

Scoring Guide

Score Description

The response demonstrates a general understanding of the reasons for appropriateness
of procedures used in the investigation. The response clearly explains the importance

2 of conducting multiple trials to measure the mass and volume of the objects during the
investigation and using the averages of those trials for calculating average density.

1 The response demonstrates a limited understanding of the reasons for appropriateness
of procedures used in the investigation.

0 The response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

e Multiple trials can provide more valid results than a single measurement because of
measurement error.

e Anomalous or incorrect measurements are more likely to be identified when multiple trials are
conducted.

* The averages from multiple trials can more accurately represent the measurements of an object
to be used in a calculation than a single measurement.

15



NECAP 2013 RELEASED INQUIRY TASK
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Score PoINT 2

@ Explain why it was important to conduct multiple trials and to use the average of those trials to
calculate the average density.
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| Both parts of the prompt are answered correctly.

Score Point 1

@ Explain why it was important to conduct multiple trials and to use the average of those trials to
calculate the average density.
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Answers only one part of the prompt (why it is important to conduct multiple trials). The response does not
address the importance of using averages.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score Point 0

@ Explain why it was important to conduct multiple trials and to use the average of those trials to
calculate the average density.

T important hecciuse Yoo Call roucewd of See
whats e “b‘\qprm Next in Yhe eExperivnerd.

| Incorrect.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Broad Area of Inquiry: Conducting Investigations
Inquiry Construct 10: Summarize results based on data.

@ Compare the average densities of the coin and nugget from your investigation (Data Table 1) with the
densities of substances listed in Data Table 2. Identify the substances that most likely make up the coin

and nugget. Support your answer with data from both tables.

Scoring Guide

Score Description

The response demonstrates a thorough understanding of summarizing results based on
3 data. The response correctly identifies the types of metal that most likely make up the
coin and the nugget and provides data from Data Tables 1 and 2 as support.

2 The response demonstrates a general understanding of summarizing results based on data.
1 The response demonstrates a limited understanding of summarizing results based on data.
0 The response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

* The metal that most likely makes up the coin and nugget is pyrite. The density of my coin and
nugget were [student’s data] and most closely matches the density of pyrite in Data Table 2

(5.0 g/em®).

e Correct units need to be included for a 3-point score.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score Point 3

€@ Compare the average densities of the coin and nugget from your investigation (Data Table 1) with the
densities of substances listed in Data Table 2. Identify the substances that most likely make up the coin
and nugget. Support your answer with data from both tables.
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Response uses specific data (with correct units) from both tables to compare the densities of the objects
found on the beach with the known densities of a variety of metals. The response also comes to a valid
conclusion based on the data.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoiNT 3 (CONTINUED)

Data Table 1: Average Mass, Volume, and Density of Found Objects

Average Average Average
Object Mass Volume Density
(9) (mL) (g/cm?)

Gon 3_&;\ }- §mL (O'L(g /Lm3
Nugge! \2q Leal "|3/c s

Note: 1 cm® =1 mL

Jennifer’s science teacher helped her research the densities of various substances. Data Table 2,
below, shows the results of their research.

Data Table 2: Densities of Various Substances

Substance I()ge/:fr:%/
Aluminum 2.7

Brass 8.4-8.7
Copper 8.9
Gold 19.3
Pyrite 5.0
Silver 10.5
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoINT 2

@ Compare the average densities of the coin and nugget from your investigation (Data Table 1) with the
densities of substances listed in Data Table 2. Identify the substances that most likely make up the coin

and nugget. Support your answer with data from both tables. 7’/, 2 a/
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The response comes to a valid conclusion [both items are made of pyrite]. However, it is unclear how the
data cited relates to the conclusion and the unit of measurement used (gram) is incorrect.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score POINT 2 (CONTINUED)

Data Table 1: Average Mass, Volume, and Density of Found Objects

Average Average Average

Object Mass Volume Density
(9) (mL) (g/em’)
Coin 2{ (?‘) 4 (M/ ) Y ( .7/(/?73)
Nugget la .’3 (ﬂ’ 4 6— (ml) 7.5(.7/(/7/”

Note: 1 cm® =1 mL

Jennifer’s science teacher helped her research the densities of various substances. Data Table 2,
below, shows the results of their research.

Data Table 2: Densities of Various Substances

Substance I()ge/:::r:g\)/
Aluminum 2.7

Brass 8.4-8.7
Copper 8.9
Gold 19.3
Pyrite 5.0
Silver 10.5
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score Point 1

@ Compare the average densities of the coin and nugget from your investigation (Data Table 1) with the
densities of substances listed in Data Table 2. Identify the substances that most likely make up the coin
and nugget. Support your answer with data from both tables.

The Substonge that wmeost IIKEY mkes up+p
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This response comes to a correct conclusion based on experimental results but it is not backed up with
evidence from the tables.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoINT 1 (CONTINUED)

Data Table 1: Average Mass, Volume, and Density of Found Objects

Average Average Average
Object Mass Volume Density
(9) (mL) (g/em?)
. —_ — g
Coin 21 1(0 9 l \%’% ’[Qq /g
Nugget % 6bal 32wl  4WRY

Note: 1 cm® =1 mL

Jennifer’s science teacher helped her research the densities of various substances. Data Table 2,
below, shows the results of their research.

Data Table 2: Densities of Various Substances

Substance '(399/22‘3\)’
Aluminum 2.7

Brass 8.4-8.7
Copper 8.9
Gold 19.3
Pyrite 5.0
Silver 10.5
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoinT 0

@ Compare the average densities of the coin and nugget from your investigation (Data Table 1) with the
densities of substances listed in Data Table 2. Identify the substances that most likely make up the coin
and nugget. Support your answer with data from both tables.

The Subitarces Haok Mozt WY frokeyp e Corn
ond UL+ 1D Fne cusetact Sexn Voo Lot 4a\oes,
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Irrelevant to the question asked.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoiNT 0 (CONTINUED)

Data Table 1: Average Mass, Volume, and Density of Found Objects

Average Average Average
Object Mass Volume Density
(9) (mL) (g/cm?)
Coin =L | Ul 2Nz
Nugget 2 RZ \an) 7R

Note: 1 cm® =1 mL

Jennifer’s science teacher helped her research the densities of various substances. Data Table 2,

below, shows the results of their research.

Data Table 2: Densities of Various Substances

Substance I()ge/:fr:%/
Aluminum 2.7

Brass 8.4-8.7
Copper 8.9
Gold 19.3
Pyrite 5.0
Silver 10.5
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Broad Area of Inquiry: Developing and Evaluating Explanations
Inquiry Construct 12: Use evidence to support and justify interpretations and conclusions or explain how
the evidence refutes the hypothesis.

€ Copy your prediction from page 3 of your Inquiry Booklet into the box below.

a. Is your prediction supported by the evidence from your investigation and Jennifer’s research?

b. Use specific evidence from your investigation and Jennifer’s research to explain your answer.

Scoring Guide

Score Description

The response demonstrates a general understanding of using evidence to support and
justify interpretations and conclusions or explains how the evidence refutes the hypothesis.

2 The response identifies whether the student’s prediction was supported or rejected by the
evidence, explains why, and includes specific pieces of evidence.

1 The response demonstrates a limited understanding of using evidence to support and
justify interpretations and conclusions or explains how the evidence refutes the hypothesis.

0 The response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

The evidence supports my prediction because after calculating the densities of the objects from the
beach, | compared the densities with the data in Data Table 2 to identify the type of substance each
object was made from.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoOINT 2

€ Copy your prediction from page 3 of your Inquiry Booklet into the box below.

At S e propecty of denSity olone on
be vSed o de*(;ﬂ\\i(\c Me ‘Am\"d N G C\b"ﬂ_*c

a. Is your prediction supported by the evidence from your investigation and Jennifer’s research?

b. Use specific evidence from your investigation and Jennifer’s research to explain your answer
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The response clearly states that the prediction is supported and provides specific evidence and rationale to
back up the claim. Correct units of measurement are used.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoInT 1

€ Copy your prediction from page 3 of your Inquiry Booklet into the box below.

Nes, Yo "4% K4Sk, alone a0
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a. Is your prediction supported by the evidence from your investigation and Jennifer’s research?

b. Use specific evidence from your investigation and Jennifer’s research to explain your answer
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The response clearly states the prediction is supported. The response provides rationale but does not include

specific evidence to back up the claim.
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Score Point O

€ Copy your prediction from page 3 of your Inquiry Booklet into the box below.
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a. Is your prediction supported by the evidence from your investigation and Jennifer’s research?
kind of no} Vel

b. Use specific evidence from your investigation and Jennifer’s research to explain your answer
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‘ Incorrect.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Broad Area of Inquiry: Formulating Questions & Hypothesizing
Inquiry Construct 2: Construct coherent argument in support of a question, hypothesis, prediction.

@ A student in the science class said that his density investigation of the coin “proved” that the
coin came from the shipwreck. Do you agree or disagree with the student’s statement? Explain the
reasoning for your answer.

Scoring Guide

Score Description

The response demonstrates a thorough understanding of constructing a coherent argument
3 in support of a question, hypothesis, or prediction. The response clearly identifies and
describes whether the scientific claim is proven by the evidence.

The response demonstrates a general understanding of constructing a coherent argument

2 in support of a question, hypothesis, or prediction.

1 The response demonstrates a limited understanding constructing a coherent argument in
support of a question, hypothesis, or prediction.

0 The response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

* The coin might be be brass because it has the same density as brass, but density is only one
test and other tests should be used to verify that the coin is brass.

* The coin might have come from the shipwreck because the ship had coins, but the coin could
have come from something else too.

e Scientists can provide evidence that supports a claim but cannot prove the claim is absolutely
true because there might be other evidence that contradicts the claim.

¢ One student's answer is not sufficient.
e He didn't cite the evidence.

¢ Just because the object is found in the same location as other objects does not mean they all
come from the same place.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoinT 3

Analyzing Your Results

Jennifer’s history teacher helped her research information about the types of metals and objects
that may have been on the Gaspee before the ship was burned. Data Table 3, below, shows the
results of their research.

Data Table 3: Types of Metals and Objects Likely Found on the Ship

Type of Metal Objects Commonly Made from the Metal
Brass locks, keys, hinges, lamps
Copper pots, pans
Gold coins, nuggets
Silver coins, spoons, knives, and forks

@ A student in the science class said that his density investigation of the coin “proved” that the
coin came from the shipwreck. Do you agree or disagree with the student’s statement? Explain the

reasoning for your answer. T = CION'+ QQree witn *he Srvddnts
Srortment ecavse +ne snFormMoticn FOouNg
N TNe NVesyigation -On\y Proved rine
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he ciensity You wouldnd  pe able +o
Drove ¢ +e ObJetS Ore From 4 e
Shipwrete or rpT untll You Foung 1+'s
'NAENTITY - SINCE vt weaxs Closes+ +D p\/r'\ﬂ
and Yhort \snt ItS+eqy i+ Might No+
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The response clearly indicates disagreement and presents a well reasoned argument that other factors must
be taken into account before a final determination can be made.
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Score PoINT 2

Analyzing Your Results

Jennifer’s history teacher helped her research information about the types of metals and objects
that may have been on the Gaspee before the ship was burned. Data Table 3, below, shows the
results of their research.

Data Table 3: Types of Metals and Objects Likely Found on the Ship

Type of Metal Objects Commonly Made from the Metal
Brass locks, keys, hinges, lamps
Copper pots, pans
Gold coins, nuggets
Silver coins, spoons, knives, and forks

@ A student in the science class said that his density investigation of the coin “proved” that the
coin came from the shipwreck. Do you agree or disagree with the student’s statement? Explain the
reasoning for your answer.

. | - the
pu éi rec with Aim . Tnece wece covns an
Sne ot Prey WETe TYOM Averecent Fuees oF onAe\
live silver ard qldTne Con Jennieer coutd WS
\’“0:}!‘ \‘\\‘\Q\L\ wade TromMm Q_\v\\e.

The response clearly indicates disagreement. The explanation is brief, comparing the coins based only on the
types of metals.
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Score PoInT 1

Analyzing Your Results

Jennifer’s history teacher helped her research information about the types of metals and objects
that may have been on the Gaspee before the ship was burned. Data Table 3, below, shows the
results of their research.

Data Table 3: Types of Metals and Objects Likely Found on the Ship

Type of Metal Objects Commonly Made from the Metal
Brass locks, keys, hinges, lamps
Copper pots, pans
Gold coins, nuggets
Silver coins, spoons, knives, and forks

@ A student in the science class said that his density investigation of the coin “proved” that the
coin came from the shipwreck. Do you agree or disagree with the student’s statement? Explain the
reasoning for your answer.

T S0\jree  beravse tefe S no Vay Yo Show
oy 8 o from the stpwreck YUt by findiny
the Coind dendi .

‘The response clearly indicates disagreement but the argument is minimal, focusing only on density.

34



NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoinT 0

Analyzing Your Results

Jennifer’s history teacher helped her research information about the types of metals and objects
that may have been on the Gaspee before the ship was burned. Data Table 3, below, shows the
results of their research.

Data Table 3: Types of Metals and Objects Likely Found on the Ship

Type of Metal Objects Commonly Made from the Metal
Brass locks, keys, hinges, lamps
Copper pots, pans
Gold coins, nuggets
Silver coins, spoons, knives, and forks

@ A student in the science class said that his density investigation of the coin “proved” that the
coin came from the shipwreck. Do you agree or disagree with the student’s statement? Explain the
reasoning for your answer.

1 Q\B(e,e, (_J\\\\ e ‘3\0330«'5 .‘m%\*'*gd‘m
-—_Y oo fee be,ccusa °w\ k\f\(, ACAL\ \u&
Tenriiers Wistery Yeacker QO s R
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O\ “Uaﬂ)‘f) s e/a\(\ 3(\’*6(‘(,.

Incorrect.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Broad Area of Inquiry: Conducting Investigations
Inquiry Construct 9: Collect sufficient data to study question, hypothesis, or relationships.

© Explain why it is important for scientists to retest other scientists” experiments.

Scoring Guide

Score Description

The response demonstrates a general understanding of collecting sufficient data to study
2 a question, a hypothesis, or relationships. The response clearly explains why the scientist
independently measured the mass and volume of the objects to calculate the density.

1 The response demonstrates a limited understanding of collecting sufficient data to study
a question, a hypothesis, or relationships.

0 The response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

* Scientists conduct independent investigations to verify the results of prior investigations.

» Scientists conduct independent investigations to make sure the scientist was correct.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoINT 2

@© Explain why it is important for scientists to retest other scientists’ experiments.

\t's \mPor‘rcm{' for scientists o vekest pther sgientish
ex‘)m‘men*s because it further gliminares the Possibtlrh
0f Ywmanm gyvor. \¢ one scienhict Y"iges Up oun }
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havm% onorher sclentist do the expaiment; yne

Con toMpare and  decidy \F there was a ‘i
mistoke or not.

A well reasoned response that explains that an error may occur and how retesting may identify that error.

Score PoInT 1

@ Explain why it is important for scientists to retest other scientists’ experiments.

Ttis ortant for sclentist 4o redest ot selen 41535
e pisim ot the first sclenttst cord hove
o mistahe and not redlized i+

‘A correct, but brief, explanation that a mistake could have been made.
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Score PoinT O

@© Explain why it is important for scientists to retest other scientists’ experiments.

0 Heycan See how 0ld (#/5,

| Incorrect.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Broad Area of Inquiry: Developing and Evaluating Explanations
Inquiry Construct 13: Communicate how scientific knowledge applies to explain results, propose further
investigations, or construct and analyze alternative explanations.

@ The scientist’s results were slightly different from Jennifer’s results. Explain why the scientist’s
results may have been slightly different from Jennifer’s results.

Scoring Guide

Score Description

The response demonstrates a general understanding of communicating how scientific
2 knowledge applies to explain results. The response explains why the scientist’s results
may have been slightly different from Jennifer's results.

1 The response demonstrates a limited understanding of communicating how scientific
knowledge applies to explain results.

0 The response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

* The scientist's measurements may have differed slightly because the scientist had more accurate
measurement instruments or because the condition of the objects had changed slightly from
when they were measured by the students.

* There may have been an error introduced into the measurements or calculations by either the
students or the scientist.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoINT 2

@ The scientist’s results were slightly different from Jennifer’s results. Explain why the scientist’s
results may have been slightly different from Jennifer’s results.

e Seiaris X's ks mon o oren S\ioed |
NV Kropn ROmR('s  betowk ¥g Seienyist
WONE 0CLess Xy (ot WE(MHIbN Ond RLRET
RARQeLi, TE MY sNanCed  uigrend L w20
0 Drede WO AWS B s AN Wk Marion o
¥AY XOQLE  wWhen YaQ  WXEefy Meny % (,)Q(.Snfn}gd v Qi
AG Mo WRyYD TR BB . (e Stientist Moy

Nep e ol Xb YMe(Yo wstole more eos,

The response fully explains how different equipment could lead to different experimental results.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score Point 1

@ The scientist’s results were slightly different from Jennifer’s results. Explain why the scientist’s
results may have been slightly different from Jennifer’s results.

TNe ScientiSYs  eSul\ks mm/s hove
Deen Qkferent V€Ca\Se ~\rh0.l.§

Moy have Mote  advance ¢
g qQuitment.

A brief statement that does not fully explain how the equipment could have affected the results.

Score Point 0

@ The scientist’s results were slightly different from Jennifer’s results. Explain why the scientist’s
results may have been slightly different from Jennifer’s results.

L+ 1y have geen & FRlen+

BecavSe +hey can Find cuu
-H-.}/gg,

Irrelevant.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Broad Area of Inquiry: Developing and Evaluating Explanations
Inquiry Construct 13: Communicate how scientific knowledge applies to explain results, propose further
investigations, or construct and analyze alternative explanations.

@ Describe the pattern shown by the mass, volume, and density of the samples listed in Data Table 4.

Scoring Guide

Score Description

The response demonstrates a general understanding of how to communicate how scientific
2 knowledge applies to explain results. The response explains how the information in Data
Table 4 supports the idea that the density of an object can be used to identify the
composition of each object found on the beach.

1 The response demonstrates a limited understanding of how to communicate how scientific
knowledge applies to explain results.

0 The response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

The pattern is that the density of a sample stays the same, or shows small differences, even if the
mass or volume changes.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoINT 2

Applying What You’ve Learned

Jennifer’s science teacher had the class do another investigation with nonmetal objects. They
measured the mass and volume of samples that were all made out of the same nonmetal material

but had different masses. The average measurements of the samples are shown in Data Table 4,
below.

Data Table 4: Average Mass and Volume of Four Samples
Made of the Same Nonmetal

Sample Mass VquTe DenSit3V
(9) (cm’) (g/cm?)

W 2.2 1.1 2.0

X 5.1 23 5

Y 11.3 5.4 2.1

Z 14.2 7.1 20

@ Describe the pattern shown by the mass, volume, and density of the samples listed in Data Table 4.

a,'\‘lom éﬂown "N ‘H\; atl, Va\uw mJ Jen.r}

of Yh
s.,,,,p\q ed i DATTA 4 i Hh gl ey
Mass C\:\l Volum Qo ? w“\ ﬁc}') ?nrnpl-l LW ‘H\( chr",
S-\""\) (\OR ‘} 'Hu Came .

|The response includes a clear description of the pattern and relates density to mass and volume.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoInT 1

Applying What You’ve Learned

Jennifer’s science teacher had the class do another investigation with nonmetal objects. They
measured the mass and volume of samples that were all made out of the same nonmetal material

but had different masses. The average measurements of the samples are shown in Data Table 4,
below.

Data Table 4: Average Mass and Volume of Four Samples
Made of the Same Nonmetal

Sample Mass | Volume | Density
(9) (cm’) (g/cm?)

W 2.2 1.1 2.0

X 5.1 23 55

Y 11.3 5.4 2.1

Z 14.2 7.1 2.0

@ Describe the pattern shown by the mass, volume, and density of the samples listed in Data Table 4.

' N

for Ane S0Ur aDJECHS, fhe MOSS OO

dolome. were AEECTEnt by the QeNSHY
YCMQNS g SAME-

Response does not clearly relate density to the changes in mass and volume.
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GRADE 8 SCIENCE

Score PoinT 0

Applying What You’ve Learned

Jennifer’s science teacher had the class do another investigation with nonmetal objects. They
measured the mass and volume of samples that were all made out of the same nonmetal material
but had different masses. The average measurements of the samples are shown in Data Table 4,
below.

Data Table 4: Average Mass and Volume of Four Samples
Made of the Same Nonmetal

Sample Mass | Volume | Density
(9) (cm’) (g/cm?)

W 2.2 1.1 2.0

X 5.1 23 55

Y 11.3 5.4 2.1

z 14.2 7.1 2.0

@ Describe the pattern shown by the mass, volume, and density of the samples listed in Data Table 4.

™me m 1S e Moss ancl Nolume Qe+ ;mQaer
and bigger, SO e GRNSHY gets bigger and Hen

LM\ -

Incorrect.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Broad Area of Inquiry: Developing and Evaluating Explanations
Inquiry Construct 12: Use evidence to support and justify interpretations and conclusions or explain how
the evidence refutes the hypothesis.

@ Explain how the pattern you described in question 7 supports the idea that the composition of each
object found on the beach could be identified from its density.

Scoring Guide

Score Description

The response demonstrates a general understanding of how to communicate how scientific
2 knowledge applies to explain results. The response explains how the pattern described
in question 7 supports the idea that the composition of each object found on the beach
could be identified from its density.

1 The response demonstrates a limited understanding of how to communicate how scientific
knowledge applies to explain results.

0 The response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

The pattern supports the idea that the composition of each object can be identified from its
density because even when different samples with different masses and volumes of the object were
measured, the calculated density of the object was the same.
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoINT 2

@ Explain how the pattern you described in question 7 supports the idea that the composition of each
object found on the beach could be identified from its density.

Té Sortone want) Yo know what Hpe ot Substanie
an object 15 ypu would wse dins'hy and Consame
({' Yo Ol r researth of '{‘W‘l‘ fubstaner, I+JO($
not wmoH: '“4.551[0/ how muchh spatf He Ob'((l"
WS Up a5 M G [+ paakches He Cornech Jms:-ly

'
‘

This response thoroughly describes the concept that no matter the mass or volume of a substance, its
density remains the same. The response brings in the need for further comparison and research.

@ Describe the pattern shown by the mass, volume, and density of the samples listed in Data Table 4.

TL{/ dotn "ﬂbk shows thet the dMsHVS Ot Very tlose
Yo ore anpter So Hey may b the same substang

becous(  even +Loc5|4 Hu-c, res5es cnd volums Gt

.U-C-Rr{n.l. 1+ Cun shil b+ sqmn Substane, Fop !‘njkma(,

YOU ten havp on sulbbornce (n ol shapts and 5309

G rcssore flom ol Pt 40} 61 g

densidy,
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NECAP 2013 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score Point 1

@ Explain how the pattern you described in question 7 supports the idea that the composition of each
object found on the beach could be identified from its density.

This AN Sowes ok vo
PA T LOMOX  NAass ©F  veloneg
W, soestarce 1S, Y ddonst v )
olbows  ovn ony e somel

The response provides a brief, correct statement.

@ Describe the pattern shown by the mass, volume, and density of the samples listed in Data Table 4.

The ™assed and uolomes Gire o\
Affenear. BUY ol Hee duasine are

Vg sovre. This  Snowss Vrodk “\’My?’e

Wy SO yrionnaal sopstonca .
M\eo, 00 Pl tnass ineveased He

WVOlurne.  Mene 0 &2-0.
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GRADE 8 SCIENCE

Score Point 0

@ Explain how the pattern you described in question 7 supports the idea that the composition of each
object found on the beach could be identified from its density.

The 15 becaiBe YR Cefbivy (vaver

oW, ronged. Tv LR from 9.0 -2

ﬁ\ﬁ.%\* A% Sjcm3 was He highest 1+
LS80 oSt ThouS Hat the

Angy Mcg

deng,wome Can Change kot +he 8
a Vé‘qlk/ dOC:?E,n'-}

The response discusses Data Table 4 without relating the information to the broader concept of identifying
objects from their density. No credit.

@ Describe the pattern shown by the mass, volume, and density of the samples listed in Data Table 4.
The g}%\-e(ﬂ SNAIN o YOe NOSS
(S ouD> A \NEDERS WY weeny ‘;
0nd MeR oy B RO Tre oS
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